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1. India’s gross GST revenue touched ₹1,51,718 crore in October, 16.6% higher than a year ago, 

marking the second highest monthly collections since the launch of the indirect tax regime. 

In this Context consider the following: 

1) GST is aUniform Tax structure for Indirect Tax regime and not Direct taxes. 

2) GST Is enacted through 101st constitutional amendment Act. 

3) GST Council is a Constitutional Body 

Select the correct answer using the code given below: 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 

 

2. In a major boost to Atmanirbhar Bharat, the Ministry of Communications granted approval to 42 

companies including 28 MSMEs under PLI Scheme for Telecom and Networking Products. 

In this context consider the following statements about PLI scheme. 

1) The production Linked Incentive (PLI) Scheme for Telecom and Networking Products was 

launched by DoT in April 2021. 

2) The scheme aims to make India a global hub for manufacturing telecom equipment. 

3) The support under the Scheme was provided for a period of five (5) years, i.e. from FY 2021-22 

to FY 2025-26. 

Select the correct answer using the code given below: 

a) 1 and 2 only 

b) 2 and 3 only 

c) 1 and 3 only 

d) 1, 2 and 3 

 

3. Arrange the following ports from North to South: 

1) Gwadar 

2) Cochin Port 

3) Columbia 

4) Humbantota 
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Which of the following option is correct? 

a) 1-2-3-4 

b) 1-3-2-4 

c) 2-1-4-3 

d) 1-2-4-3 

 

4. Consider the following statements regarding Hambantota port: 

1) Hambantota port is a deep-water port on the northern tip of Sri Lanka. 

2) It is the largest port in Asia, and sits on the route connecting Southeast Asia with Africa and 

West Asia. 

Which of the statements given above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

5. Consider the following statements 

1) Machchu River is  in Gujarat whose origin is Madla hills 

2) It is one of the North flowing rivers of Saurashtra and disappears in the little Rann of Kachchh. 

Which of the statements given above is/are correct?  

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

6. Why is a species called  ' Senna spectabilis' often mentioned in news?  

a) Its extract is widely used in cosmetics. 

b) It tends to reduce the biodiversity in the area in which it grows. 

c) Its extract is used in the synthesis of pesticides. 

d) None of the above 

 

7. Consider the following statements regarding Rajya Sabha 

1) The Constitution has fixed the term of office of members of the Rajya Sabha to be six years. 

2) The retiring members are eligible for re-election and renomination any number of times. 

Which of the statements given above is/are correct? 
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a) 1 only  

b) 2 only  

c) Both 1 and 2  

d) Neither 1 nor 2 

 

8. With reference to the differences between articles 358 and 359 of Indian constitution, consider the 

following statements: 

1) Article 358 extends to the entire country whereas Article 359 may extend to the entire country or 

a part of it. 

2) Article 359 automatically suspends the fundamental rights under Article 19 as soon as the 

emergency is declared. On the other hand, Article 358 does not automatically suspend any 

Fundamental Right. 

3) Article 359 suspends Fundamental Rights under Article 19 for the entire duration of Emergency 

while Article 358 suspends the enforcement of Fundamental Rights for a period specified by the 

president. 

Which of the statements given above is/are correct? 

a) 1 only  

b) 2 and 3 only  

c) 1, 2 and 3  

d) None 

 

9. Which of the following qualifications a person must possess to qualify for election as President? 

1) He should have completed 30 years of age. 

2) He should be qualified for election as a member of the Lok sabha. 

3) A minister of the Union or any state cannot contest for presidential election during the term of 

his office. 

Select the correct answer using the code given below: 

a) 1 and 2 only  

b) 2 only  

c) 2 and 3 only  

d) 1 only 

 

10. If the President of India exercises his power as provided under Article 356 of the Constitution in 

respect of a particular state, then 
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a) The Assembly of the State is automatically dissolved. 

b) The powers of the Legislature of that state shall be exercisable by or under the authority of the 

Parliament. 

c) Article 19 is suspended in that State. 

d) The President can make laws relating to that state. 


